EIGER Y] ICLI-14 Briche | Rechnen mit Brichen

Briiche dividieren

Lésungsblatt
LEVEL 1
2 2 1 1 1 1 1 1 3 3
5315 |27%78 518 6°T30 |3%7%
4 4 2 8 8 4 9 9 3 3 3 1
72 %7 34T 1BT7e 1T |6 0T 12
LEVEL 2
1 10 10 5 2 1 9 9 3 1
3'2=3e=5 3713 t713=3355777 13
3 15 15 5 1 5 26 26 13 6
37:13=73==7=17 37:2=—i2=7=—=1g
Teile 2 % kg Erdbeeren auf Peter und seine 4 Geschwister gleichmaRig auf!
21:5=E:5=i=1kg
2 2 10 2
LEVEL 3
11 5 11-4 11-1 11 1 96 9-2 9-1 3-1 3 1
23725 15 35 %% 22726 16 12 2 '2
9_2 9-3 27 3 4.2 4-5 2-5 10 1
2’342 8 °8 3’5732 3.1 3 °3
5 2 11 2 11-3 11-1 11 3
16363 62 22 4 ’a
31 111 11-2 11-1 11 1
2427 % 2T 1 212" °2
3 1 27 4 27-3 81 17
2313583782 327 %32
2 3 14 18 14-5 7-5 35 8
%3955 35 7318 3.9 27 127
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